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REER : FR28FE681H (K) ~FrE28F6H30H (K) (BN @ N 9LIb/kg)
=1 — = o B&ER | . BHERERE]| | . EHERRE
== | HTHY 5uE ERERS 68) | BIM3E | Thomiizy | BIM3T | (hyminar)

(IEES RINEZF HLUF=EAILETRER | 27TH(B)| ~&E 8.6 | A& 7.1
EES AR X |BRLHRAREX 24H ()| A%BHE 1.1 | A& 9.1
e EGES HJ EBLLI 7 = FHET 105H(&)| ~&E 5.6 | A&H 4.8
NEES ARF+ ELHAAEAFEH | 14BN ~E@E 6.5 | A& 5.5
5 |F% BEP BLUTHMHEI =2 | 3H(&)] A &E 8.0 | I~&H 6.8
6 |Fx F Y BB LI T Be] 2 H] 1BOK)| A~ &E 7.5 | A~%&H 7.1
[ EES F Y LR AREK 24H(2)| FaH 8.1 | A&H 6.8
EES F Y BUTHIMHE =2 | 3H(&)] A&E 8.9 | A& 7.4
CIEES FrRY — AT 3H(E)] ~@E 5.6 | A& 4.7
IEES F Y — AT 68(B)| A~&E 7.5 | A~&H 6.4
EES Fa1oU L =ZIER] 5 IH(K)| I &RHE 9.9 | A&H 8.1
12 |Fx Fa1oU BLLmZENE/I | 135(B)] A&d 11.0 | ~&E 8.2
EEES Fa1oU BT ZEIEAR | 13H(B)| &L 6.1 | A& 5.2
MEES Fa1oU LR ALK 168 (K)| A~ &E 7.2 | A%H 5.8
15 |Fx Fa1oU NSNS 108 (&) ~&E 6.6 | A& 5.3
EES Fa1oU 8L = HET 2068(B)| I &HE 7.2 | A%H 5.9
EES Fa1oU BRI IS fH 580K A~ &E 5.0 | &H 4.2
FEES Fa1oU ELHAEIAFEH [ 265 (&) ~EE 9.3 | A&H 7.5
19 ¥ Fa1oU HATER=F&H] 8HUK)| A&RHE 8.9 | A~&H 7.1
EEES I 1T G DZSES:] 16H(K)| A& 5.1 [ A1 4.5
IREES Jvr A1 E LT ZEEIEAR [ 28HCN)|[ R~ i&HEH 9.1 | A& 8.0
22 |Hx Jvr A1 E BLUTFRE 298 0K)| I &HE 9.4 | A&H 7.3
23 |Hx Jvr A1 E BRI AHRET 30H(R)| ~&HE 5.3 | I&H 4.0
AEES Jvr A1 E BB A BEK 14BN A &gE 9.7 | A~%&H 7.8
25 [Hx Jvr A1 E BB AR 24H(2)| F~aH 6.6 | A& 5.7
26 |Hx I A1 E ERLL TR 21H(B)| I &HE 6.2 | A& 5.3
YIREES Jvr A1 E BRI EAET 108 (&) ~&E 6.6 | A& 5.3
28 |Hx Jvr A1 E BLHEREE 208(B)| I&HE 13.2 | ~1&E 11.6
29 [Hx Jvr A1 E LT = HET 268 (£)| MR HE 7.0 | ~%&H 5.8
N EES I 1 E LT PAEHBIRER | 27H(B)| A&H 6.1 | A1&H 5.1
I EES I 1 E EB LI P BT A4 16H(K)| ~&E 13.2 | & 10.9
Y ESES T HA1E BLUAEXLETXFH| 138(B)] ~&E 12.1 | ~&E 10.2
33 |F=x I A1E BUHEALBIEER [ 27H(B)] ~&E 7.5 | ~%H 6.0
A EES AvF—= BLHEAM 14BN A @E 5.9 | I&H 5.0
35 B9 AyF—= B LmEALET\LA]| 15H0K) | A& 8.7 | A&H 6.9
36 |Fx AvF—= HA A =&H] 28B0N)| R &HE 5.3 | I&H 4.5
37 |F=x SV X EBLLI T AR LLIAT 1B0K)] ~@&HE 11.5 | ~&E 9.4
LI EES EEE=P] LT 580K ~EaE 4.7 % 4.0
39 [Fp ERNESs B hZ 150 178 ()| A%&H 6.4 | ~EH 5.2
40 [Hx IIZF S Z R 1| TBON)| A&E 8.4 | A& 7.7
INIEES IIZF BUTZEINEAR | 6H(B)] A~&E 9.1 | *%&H 8.1
IVREES IIZF BLUTFRE 298 0K)| I &HE 11.8 N 10.7
R EES ERNESs LT #TES 206 (8B)| A& 7.0 | I~ &H 5.6
AEES IIZF BB AKX 16H(K)| A~ i&E 6.1 | & 5.0
45 [Hx IIZF BTN E1TE | 29BH0K) [ A& 7.7 | *%H 6.3
46 [Hx IIRZF ESLHEEEIE 206(B)| A&H 10.5 | ~&E 9.1
NIREES IIZF BB = HET 2H(R)| A~ &HE 7.2 | A%H 6.0
EES IIZF BB = HET 2H(R)] A~ gHE 7.0 | F%H 5.9
49 [Hx IIZF BB PR T 296K | FEH 5.2 | & A
IEES IIZF B LA RER [ 135(8)] ~%HE 8.2 | A& 7.3
S EES IIRZF B LmrEEIRER [ 27H(B)] ~%HE 8.5 | & 7.7
R EES IIZF ELUmAmEEAN [ 14BN T&RE 12.7 | ~&E 11.3
EEEES IIZF B LmAmEETAFER | 150K T~%E 8.9 | ~%&H 7.1
AlEES IIZF R HF0 ] 6H(B)|] ~&E 5.0 | I &H 4.3
EES IIZF BLUHEALEAEFA] 2HR)] ~&E 6.6 | & 5.6
56 |FF IIZF BLUAEXLETXFH| 138(B)] ~&H 7.9 | T%H 6.6
57 |FF=% IIRZF MUFE X LETRER | 16HCR)|] R~&E 5.0 | " &H 4.2
TEES IIYZF MLUT=EXLETRER | 27TH(B)| A~ &HE 8.3 | A &H 6.7
EIEES N FRF BUmEALRENE| 26H ()| A1&H 7.1 | A%&H 6.0
60 [Hx IIYZF BLHEXLE/\LA| 228 0K)|[ ~&HE 8.2 | A% 7.3
61 [Hx IIYZF ST &R ] 30HCKR)| A &HE 7.6 | ~&H 6.4
62 |Hx IIYZF L ALLH 295K [ AR 6.5 | A& 5.6
63 [Hx IIYZF HAN A =ZH] 8HOK)| A &RH 7.6 | ~&H 6.2
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(BT = A" 9L /kg)

=1 — = o Ci=l BHERERE]| | . EHERRE
== | »7IyY 1= ERERI 68) | N34 | oanraw) | P3| (evan13n)
[T EES AN H%F mEER IH (AK)| A& 6.1 | A& 5.2
65 [Fix K<k ELHEAM 22B0K)| &HE 10.1 | ~&E 8.1
T EES NYAYA 3y [BILmEALBIALAR| 21BN Ai&H 7.1 | A&H 6.2
67 |[BE NYhy4av () [BLUHAEXALENALE| 21BN Rgd 6.4 | AEH 5.0
68 |[FF% = XF HA™ 168 (K)| A~ &E 10.6 | ~&E 8.7
69 |[FFxE =IF SRR | T 16H(K)| A i&H 11.9 20.4 9.4
70 [FFE L5 X BRI By R ET 1BOK)| A~ &E 13.0 | ~&E 11.5
N EES L5X BRI By 2T 8HUK)| A&RHE 7.9 | A&H 7.3
IR EES EPS LS AILETRAEH]| 2HCOK)| A&H 1M1.4 | A&H 9.2
IEEES LY X HE = FH] 8H(K)| A& 9.2 | A%&H 7.5
74 [ GrEk. B=k®) |HBEK i 15H(0K)| A& 2.9 | ~™MEH 2.5
75 [UE-FDCFE (TR EB LI A %I ET IH (AK)| A& 9.0 | A1%&H 7.4
76 |[E-F02H|(¥7 /3 SEMH 2B(KN)| A~ &E 9.6 2.9 7.7
77 [E-F02H|(¥7 /3 oy 2iLWa) 1M1B(X)] A~ &E 9.6 | A& 7.6
78 |[IE-F02H|(¥~7 /3 LT THON)| A~ &E 7.4 | A&H 6.6
79 [E-F02HE|(¥~7 /3 BB ZAEHT 138(8)| A~ &E 7.5 | A~&H 6.3
80 |[ZE-FncH (¥~ ./ BB ZAEHT 138(8)| A~ &E 6.8 | A& 5.8
81 | -FncH (¥~ /3 8L ZAERT 1| IH(K)| I &RHE 4.7 9.9 4.0
82 |FE-Fn2H|(¥~7 /3 8L A ST 68(8)| ~&E 13.4 | ~&E 10.1
83 | -=n2H (¥~ ./ BB AT 2H(R)| A igHE 5.7 | I&H 4.9
ANERE N AP BB AT BT <FLL 3H(&)] ~BHE 8.5 | A& 7.1
85 | -=ncF (¥~ /3 ELUmENETIL [ 133(8)] ~%HE 8.3 | A& 6.9
86 |IIZZ-=ncH (¥~ ./ BB L AT BT <FLL 68(B)| ~&E 5.4 | I&H 4.6
87 |- Fn2F (¥~ /3 EB LT T 2H(R)| A igHE 6.4 | A& 5.4
88 [EE-Fn2FE[FFT /3 8L PR EHET 1THOK)| A& 5.1 | & 4.2
89 (I -FncH (¥~ ./ BB PR T 3H(&)] ~_@HE 4.5 12.5 3.1
90 [E-Fn2FE[FFT./3 8L FaEHET 14H(N) | A& 8.1 | A& 7.0
91 [EE-Fn2FE[FFT /3 BRI LT FAEHBIRAER [ 295 (0K)| AM&H 6.3 | ~M&EH 5.3
92 [(LLxE-FncfE|¥45 /3 FILUHmAHBIREH| 2HKR)| A&EE 5.5 9.7 4.8
93 [EZ-Fn2FE[FFT /3 EILUTHFAHBIRER | 3H(R)] ~MEHE 5.4 | A& 4.7
9% [ILE-FD2HE[FF./3 EBLL 7 P R BT A4 9H (K)| A& 6.8 | A& 5.5
% [ILE-FO2HE[F7 /3 BLUAEXLETXFH| 2068(B)] ~&E 7.1 | A%H 5.9
% [ILE-FD2HE[F7./3 B8]llTh 1BOK)| A &E 6.0 | & 5.1
97 [ILE-Fn2HE[FF /3 B8]llTh 206(B)| A& 6.3 | & 3.3
98 [ILE-Fn2HE[FF7 /3 BE]IlTh LB(1)] ~BHE 5.5 | I&H 4.7
9 [ILE-F02HE[F7 /3 B8]llTh 17H(&)| ~&E 5.0 | &H 4.3
100 [IIE-FD2HE |57 /3 HANE =ZH] 35(®)| A~ &E 5.0 | &H 4.6
101 [IIE-F2HE |57 /3 HAE =&FH] 35(®)| A~ &E 11.2 | ~&E 9.0
102 [IIE - 2HE |55 /3 HANE =ZH] 6H(B)|] Ai&E 6.2 5.7 5.2
103 [IIE - 2HE |57 ./3 HA A =&H] 58(H)| A~&E 13.2 | ~&E 10.0
106 [l -0 [F5 /3 A B =&H] 28H(N) [ A& 9.4 16.9 6.1
105 [IIE-Fn2HE |55 /3 K= 2B(R)| ~@HE 8.4 | A& 6.9
106 [IIEE- =i (7 /0 (@) [GINEEIIF 3H(&)] ~BHE 9.4 | I&H 7.6
107 [IIEE-EQ2FE|[F5 /3 (Zn) [BRLTHEHFIEE 1BOK)| A &E 7.0 | ~%&H 6.1
108 [IIEE-EcFE|[F5 /3 (Zn) [BRLTHEHFIEE 1BOK) | A~&E 8.0 | & 6.5
109 [IIEE- i[5 /0 (Zn) |ENE=FH 108(&)|] ~&E 6.1 | ~%H 5.2
110 [IIE-EDCFE|[T7F SBERE LLIAT 138(B)|] ~&H 8.1 | A& 7.0
I NERE A PES LB E 3H(&)] FBHE 9.0 | & 8.0
112 [IIE-EDCFE|[T7F HARE 16H(K)| A~ &HE 9.2 | *%&H 7.9
113 [IIE-EDCE|[T7F —AWTH IH(K)| ARH 8.1 | A& 6.7
M4 [IIE-EQCFE|[T7F A= 24H(&)| F~aH 6.8 | & 6.0
115 [IIE - EDCFE|[T7F SRR m O] THON)] A~ &HE 7.4 | T%H 6.4
116 [l - =D |[T7F SRR K] 16H(K)| A~ &HE 1.4 | ~&E 9.5
M7 [LE-E0ciE|[7F (&) HUms A LERER | 1H0K)] T~&E 8.3 | A& 7.1
118 [IIEE - =i [7F (&) SRR m O] 6H(B)|] ~&E 8.7 | A& 7.6
119 [ -EnCiB([¥FFE AT 28HCN) [ A& 9.1 | *A%&H 7.7
120 IR -EDQCE SIS N ] 6H(B)|] A~ &E 11.8 | ~&E 9.8
121 [IE-Fn2E|Sa3a7A5S  |ERLUmBEFIHEE IH(KR)| A&RH 6.3 | ~%H 5.5
122 [IE-EQCE|[USE — AT 105 (&) A& 11.3 32.6 8.0
123 [UE -2 |75 (KtHk) N 6H(B)| Atz 11.6 | A~%&H 9.6
126 [IIE-F0ciE([75F Ktk [ILEE 13H(B)] A~ &HE 11.2 | ~&E 9.6
125 [BNEE 177 A 280 NpH] 295K [ AR 7.1 | A%H 5.7
126 [N a4 S AR ER] 6H(B)| A~ &E 8.4 | & 6.6
X BERFREXREE “TBRE” EFKRo EfEER - B
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(BT = A" 9L /kg)

=1 — = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (6g) | BIA134 (b99A1 34 994137 (b994137)
(AEES 7YX EBLUHZBHIE]I [208(B)] fad 7.0 | A1&H 5.8
128 [&R= 7R BLUTFRE 29H (K) [ A& 9.0 | A& 7.5
129 |R= 72X BB LT RERL 21H(B)| A#%HE 5.7 | A&H 4.7
130 |R=E 72X BB LT B ET 20H(B)| A#%HE 8.7 | & 7.1
131 [&B= 72X = RN 21H(B)| A#%HE 5.7 | A&H 4.8
132 [&B= 7 X BB LEFHT 28H(N)| AEHE 5.8 | A&H 4.8
133 [&E= DX (51E) TERBAEN 21H(A)| A& 4.0 | A& 3.2
134 [EB= o X (5iE) HEE 22H0K) | A& 5.2 | A& 4.6
135 [&= o X (5iE) HEE 200K A& 5.7 | A& 4.9
136 [ER= DX (51E) BB L T 7R AT 23H(R)| A&H 4.5 | A &H 3.2
137 [&B= T X (518) BB LLI 7 p K2 H] 16H(K)| A i&H 4.3 1 A &H 3.8
138 [&E= DX (51E) BB Z A5 2Q1HCR) [ A& 5.5 | A& 4.8
139 [E= DX (51E) L =ZIER] 5 10H(2)| A~ &E 5.3 | A& 4.5
140 [ER= DX (51E) L =ZIER] 5 2Q1HCR) [ A& H 5.9 | A& 5.0
IEES DX (51E) L =ZIER] 5 21H ()| A& 5.0 | A& 4.3
142 [&R= T X (518) BT/ [ 15H0K) [ A&EE 4.6 | A&H 3.8
143 [&R= DX (518) BUmZEIE/l [218C0)] REE 9.5 | A& 7.5
[MEES T X (518) BT ZEIIEAR | 29H0K) [ A&HE 7.0 | A%&H 5.9
145 [&R= DX (51E) BLUTFRE 21HCR) [ A& H 5.6 | A& 4.9
146 [ERZ=E T X (518) BLUTFRE 240 (&) ~%HE 6.3 | A~%&H 5.3
147 B3 T X (518) BT LIS 21H(B)| A& 6.5 | A~&H 5.5
148 |R=E I X (518) ELmaves] FREE| 27TH(B)| AMEH 5.6 [ A&H 4.8
149 |R=E PR ) ELmavel] FMEEE| 27TH(B)| AMEH 4.0 | A%&H 3.2
150 [E= T X (518) BB LT AT 2B0K) | ~%HE 4.0 | A~ &H 3.3
151 [&B= T X (518) BB LT AT 5H(H)] A~ &E 5.6 | A& 4.7
152 [&B= T X (518) BB LT AT 14H(N) [ A &HE 4.9 | A &H 4.1
153 [E= T X (518) BB LT AT 15H0K)| R~ &H 4.9 | A &H 4.2
154 [B= T X (518) 8L A ST 21H(B)| A& 5.8 | A& A
155 [E= T X (518) 8L = A HHE] 17H(&)| ~&H 4.8 | A &H 3.9
156 [ER= T X (518) BB A BEK 14H(N) [ A &HE 6.8 | ~&H 5.7
157 [&B= T X (518) BB A BEK 15H0K) [ A i&HE 6.1 | ~&H 5.1
158 [E= T X (5i) BB A B K 240 (&) ~%HE 6.0 | ~&H 5.0
159 [E= T X (5i) BT AREAK 21H(B) | A& 6.0 | ~&H 5.1
160 [ER=E T X (5i) 8L/ \RH 295 (K)[ AR 6.6 | ~&H 5.5
161 [E=E T X (5i) EIGEZ THON)] A igHE 9.6 | A& 7.8
162 [B=E T X (5iE) L XH 21HCR) [ A& 7.1 | ~%&H 6.0
163 [E=E T X (5i) BLUHE 12H(H)] A~ #&E 7.2 | A~&H 6.1
164 [ER=E T X (5i) EBLLI T #RERET 8HOK)| A& 8.6 | A& 6.8
165 [ER=E T X (5iE) EBLLI T AT 23H(R)| A& 9.6 | A& 7.5
166 [ER=E T X (5i) EBLLI T AT 21H(B)| A& 6.6 | ~&H 5.4
167 [B=E T X (5i) ELHHNE E7E [ 208(8)] A #&E 6.8 | ~&H 5.5
168 [E= T X (5iE) ELHHNE ETE [ 271H(B)] A #&HE 7.6 | A~&H 6.1
169 [E=E T X (5i) BLUHES 240 (&) ~%HE 6.8 | ~&H 5.6
170 [E=E T X (5i) B8 LLhiE NET 298 0K)| ~%&HE 5.7 | A& 4.8
171 [B=E T X (5iE) ESLLHEERIE 28B0K) | ~%&HE 4.5 | A &H 3.7
172 [B=E T X (5iE) ESLHEEEIE 2H(R)] A~ &HE 5.7 | A %&HE 4.3
173 [B=E T X (5i8) ESLLHEEEIE 248 (&) ~%HE 5.3 | A %&HE 4.2
174 [B=E T X (5iE) ESLHEEEIE 21H(B) | A& 6.1 | ~&H 4.8
175 [B=E T X (5iE) 1L = HET 298K ~%&HE 8.0 | ~&&H 6.5
176 [B=E T X (5i8) IR 295 (K) [ AR 8.0 | ~&&H 6.5
177 [B=E T X (5iE) BB PR T 17H(&)| ~&H 6.6 | ~&HE 5.5
178 &= T X (5iE) BB PR T 17H(&)| ~&H 5.7 | A %&HE 4.7
179 [EB= T X (5iE) BB LU PG BT 4R 6H(B)| ~&d 5.5 | A~ #&H 4.7
180 [E=E T X (5iE) L LmhEELl 21HCR) | A& 7.0 | ~&H 5.8
181 [&B= T X (5iE) L= X LLH] 206(B)| A&H 7.4 | ~&HE 6.2
182 [B=E T X (5iE) BLUAEALETI/NR] 208(B)] R@E 5.1 | A~ %&H 4.6
183 [E=E DX (5iE) BUHEALEZEFER] 2HCR)|[ R~&HE 8.4 | A&H 6.9
184 [B=E T X (5iE) BUHEALETAEFEA] 3HE)] ~&E 5.4 | A&HE 4.7
185 [E=E T X (5iE) BLUAEALETRREA] 10B(&)] F&E 5.4 | A&HE 4.8
186 [E=E T X (5iE) BLUAEXALEXREA] 13B(B)] ~&@E 5.3 | A %&HE 4.5
187 [&B=E T X (5iE) BLUAERALERAREA] 21BN | NE@EH 6.0 | ~&H 4.8
188 [E=E T X (5iE) BLUhEALETREER [ 248 (2)] ~MEH 7.4 | A~&HE 6.1
189 [E=E T X (5iE) BLUAEALENALA] 7B RNEH 4.5 | A~ &H 3.9
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(BT = A" 9L /kg)

=i — o o ®REH | 4 RERAME| . RIERAE
== A73Y mHE PREN M 65) | B34 (b994134 94137 (b994137)
190 |®R= DX (5tE) LT B 2H0K)| AR 5.4 | A& 4.5
191 |RE DX (5tE) AR LI 35 AHT 1BH(B)| A& 5.7 | A& 4.6
192 |R%E DX (518) AL Z2 IR ET 28HCN)| A&RH 5.0 | A& 4.4
(EEMIEES DX (5tE) Bg|llh 26H(&)| AR 4.5 | AM&RH 3.7
194 |R= DX (5tE) FHA AR = HT 28HCN)| A&RH 5.5 | A& 4.8
195 |®R= DX (5tE) B 2HOK)| ARE 6.0 9.6 5.1
196 |R= DX (5tE) — AT 21H(B)| A& 5.2 | A& 4.4
197 |B= DX (5t8) — KT 24H(£)| AR 5.2 | A& 4.7
198 |R= DX (5t8) INEEER [ Fp ] 21H(B)| A& 5.4 16.1 4.9
199 |®R= DX (5t8) INEEER L Fp T 21H(B)| A& 5.6 | A& 4.7
200 |®R= DX (5t8) INEEER L Fp T 21H(B)| A &RH 5.1 | A& 4.6
201 |R= DX (5t8) INEEER [ Fp T 21H(B) 9.2 7.3 34.4 5.4
202 |R= DX (5t8) P E NS 28HCN)| A&RH 5.6 | A& 4.6
203 |R= DX (5t8) rAtEE T 28HCN)| A&RH 5.0 | A& 4.4
204 |R= DX (Fvie) (BT 6H(B)| A& 9.0 | A& 1.2
205 |R= DX (/i) BRI AHIET THOK)| A& 6.6 | A& 5.3
206 |R= O X (F/ME) [BIUMENETETS [13H(8)| ~&H 8.8 | A& 1.2
207 |R= DX (F/vig) BRI P HEHET 8HOUK)| AR 1.7 | A& 6.4
208 |R= X (F/vie) [BRILTHPRHETEAER [ 206(H)| AMRE 6.2 | MR 5.1
209 |R= DX (F/vig) [BRILH P EHET 4 6H(B)| A& 5.5 | A& 4.8
210 |R= X (Fve) [BR LR 9H(AR)| AR 8.1 | A& 6.5
ANEES DX (F/\g) [BLUHEXALARE] 106 (&) AMEH 5.4 | A& 5.0
212 |R= X (Fve) [BRLUHmEXILETER | 6H(B)| AHRE 4.8 | A& 4.4
213 |R= DX (F/ME)  [BRLTEXILETAWLE| 158 0K) | A&EH 8.2 | A& 6.7
214 |R= O X (F/ME) [BRLTEXILEALBE[17H(E) | FA&EH 8.6 | A& 7.0
215 |R= DX (F/vE) XEEESEIHT 17H(®)| A %E 5.3 | A& 4.5
216 |R= L= EIGEEE= THCN) | AR 5.8 | A& 4.8
ATEES L= ABLLITH EHAS T 30H(KR)| A& 6.7 | A& 5.8
218 |R= JTDE AR LLITTAiR T 9H(AR)| AR 7.6 | A& 6.3
219 |R= PN BEm 2H0K)| AR 5.8 | A& 4.9
220 |R= ED BB EHAETSR | 30H(K)| A& 5.9 | A& 5.0
221 |R= 754 HLmERALETRE | 248 (£)| ARH 7.5 | A& 6.2
222 |R= AR5 X AR LT = FHET MHE)| A %E 7.0 | A& 5.9
223 |R= 5 ANY — LM ZEHEAR | 14BN | ARH 6.4 | A& 5.5
224 [ZDfih EA BBLLTh AR ET 8H (7k) 11.0 1.4 37.7 5.5
225 |Zfth P LA EHETAHFARE | 18 0K) 94.2 8.2 446.0 6.8
226 | Zfth [ BT TLHON) | A& 10.2 | & 7.6
227 [ZDfih Yy 3av (F) [BRLHEA 6H(B)| A& 7.3 | A& 5.9
228 [ZDfih Byyav () [BUHESALERENR| 268 (&) AMEH 7.1 | A& 6.1
229 |H2TEFEEX K (ZXXK) A AR/ \EF T 15HOK) | A& 4.5 | A& 3.8
230 [H27TEFEEX K (BHX) BEm 20H(B)| A& 13.6 | & 10.0
231 [H2TEFEX K (BX) = 8HOK)| &R 5.6 | A& 4.7
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